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dapaunue 2.

PASMAHKA
+



1. Kakue yucna
Tpebnarorca npu cyere?

1. NpupoaHble
2. EcTeCcTBeHHbIe

3. ICcKycCTBEHHbIE
4. HatypanbHble




KOU ApPO6HBLIU uneH ecCTb
B (pyTbONBHOU KOMaAHAE?
1. NMonyBpaTapb
2. Nony3awWwnTHUK
3. NMonyTpeHep
4. NonyHanaaarowuny




K Ha3bIBAOT BepXHUW
on pyrbonbHLIX BOPOT?

1. [JeBATKa
2. lecTepka
3. MNMarepka

4. [NecsaTKa




. Kakumu 6bbiBaroT
eMeHHbIe (poToannaparhi?

1. YnucnoBble

2. PopMynbHbIe
3. UndpoBblie
4. IpoOHbIe




BIKUALIBAET YesioBek,
Bepwas Kakou nubo
NpeAoCYyAUTESbHLIN,
CTPAHHBLIW, CMelHOU
NOCTYNOK?

1. Undpy
2. Yucno
3. Homep
4. Popmyny




KOe matemaTtudeckoe

EUCTBUE C KNeTKaMu

ecneYymeaeT pocT OpraHos
XUBOIrO OpraHUsma?

1. CnoxeHue
2. BbruurtaHue
3. YMHOXeHue
4. [leneHue




aK HasbIBaeTCS

TOSHUE MexAay ABYMA
OTMETKGMU Ha

UsMmepuTtesnbHou LWwkane?

1. CnoxeHue
2. BblymTtaHue
3. HeneHue

4. YMHOXeHue




HYyXHO 6paTb ¢ repoes, a

CO BCeX YeCTHbIX, A06pbIX U
NOPSAOYHLIX Noaewn ?

1. Hanor

2. Npumep

3. NMpoueHT
4. NownuHy




BNseTca HassaHuem
anbHOro UHCTpymMeHTa?

. TpeyronbHUK
. KBagpar
. OBan
PomO

> WO =



a Kakou yron
YuBaeTca conaat npu
omaHae: «Kpyroml»?

1. 90°
2. 180°
3. 360°
4, 0°



Jananne 3.




Sapanve 3.




Jaganuve 4.




Jaganuve 4.




AIPADOMIE TAIKA






Japanne 3.




Japauve 3.




Jagauve G.

Vit
+



Boiumucnure.

(3132 + 1793) - 793 =



Boiumucnure.

6341 - (587 + 3341) =



Boiumucnure.

18°+10° =












